WEYGANDT ACCOUNTING PRINCIPLES 9E
CHAPTER 10
PLANT ASSETS, NATURAL RESOURCES,
AND INTANGIBLE ASSETS

Number SO BT Difficulty Time (min.)
BE1 1 AP Simple 2-4
BE2 1 AP Simple 1-2
BE3 3 AP Simple 2-4
BE4 3 E Moderate 4-6
BE5 3 AP Simple 4-6
BE6 3 AP Simple 2-4
BE7 4 AN Moderate 4-6
BES 5 AP Simple 2-4
BE9 6 AP Simple 4-6
BE10 6 AP Simple u\( 4-6
BE11 7 AP ag@?cO » 4-6
BE12 8 AP S Odimple 2-4
BE13 9

e

wo" imple 4-6
ST TL
B@( e 1OP a AP Simple 4-6

DI1 1 C Simple 4-6
DI2 2 AP Simple 2-4
DI3 6 AP Simple 6-8
Dl4 7,8 K Simple 2-4
EX1 1 C Simple 6-8
EX2 1 AP Simple 4-6
EX3 1 AP Simple 4-6
EX4 2 C Simple 4-6
EX5 3 AP Simple 6-8
EX6 3 AP Simple 8-10
EX7 3 AP Simple 10-12
EX8 4 AN Moderate 8-10
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Questions Chapter 10 (Continued)

12.
13.

14.

15.
16.

17.

18.
19.

20.

21.

Natural resources consist of underground deposits of oil, gas, and minerals, and standing timber.
These long-lived productive assets have two distinguishing characteristics: they are physically
extracted in operations, and they are replaceable only by an act of nature.

Depletion is the allocation of the cost of natural resources to expense in a rational and systematic
manner over the resource’s useful life. It is computed by multiplying the depletion cost per unit by
the number of units extracted and sold.

The terms depreciation, depletion, and amortization are all concerned with allocating the cost of
an asset to expense over the periods benefited. Depreciation refers to allocating the cost of a
plant asset to expense, depletion to recognizing the cost of a natural resource as expense, and
amortization to allocating the cost of an intangible asset to expense.

The intern is not correct. The cost of an intangible asset should be amortized over that asset’s
useful life (the period of time when operations are benefited by use of the asset). In addition,
some intangibles have indefinite lives and therefore are not amortized at all.

The favorable attributes which could result in goodwill include exceptional management, desirable
location, good customer relations, skilled employees, high-quality products, and harmonious relations
with labor unions.

Goodwill is the value of many favorable attributes thatga \Q the business enterprise.
Goodwill can be identified only with the busmes \éle and, unlike other assets, cannot be
sold separately. Goodwill can onIy beys busmess is sold. And, if goodwill appears
on the balance sheet, it me n ha

SGLyZased another company for more than the

fair market value of |_‘Qe®
é‘&!@ ed only w, ]IS a transachon that involves the purchase of an entire

dwill is |P cost over the fair market value of the net assets (assets less
b|I|t|es) acquired. The recognition of goodwill without an exchange transaction would lead to
subjective valuations which would reduce the reliability of financial statements.

Research and development costs present several accounting problems. It is sometimes difficult
to assign the costs to specific projects, and there are uncertainties in identifying the extent and
timing of future benefits. As a result, the FASB requires that research and development costs be
recorded as an expense when incurred.

McDonald’s asset turnover ratio is computed as follows:

Net sales _ $20.5hilion

= $28.9bilion — /| times

Average total assets

Since Resco uses the straight-line depreciation method, its depreciation expense will be lower in
the early years of an asset’s useful life as compared to using an accelerated method. Yapan’s
depreciation expense in the early years of an asset’s useful life will be higher as compared to
the straight-line method. Resco’s net income will be higher than Yapan’s in the first few years of
the asset’s useful life. And, the reverse will be true late in an asset’s useful life.
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EXERCISE 10-7

(@) (1) 2010: ($30,000 — $2,000)/8 = $3,500
2011: ($30,000 — $2,000)/8 = $3,500

(2) ($30,000 — $2,000)/100,000 = $0.28 per mile
2010: 15,000 X $0.28 = $4,200
2011: 12,000 X $0.28 = $3,360

(3) 2010: $30,000 X 25% = $7,500
2011: ($30,000 — $7,500) X 25% = $5,625

(b) (1) Depreciation EXpPense.........ccornmsmrsmsamsmssmsamsmssnsassassnsas 3,500
Accumulated Depreciation—Delivery Truck........ 3,500
(2) Delivery TrUCK ....ccccocsesesessmssssssmssssmsssssssssssmsassnsnsassnsanas $30,000
Less: Accumulated Depreciation.........ccceceeerieruesee 3,500
\)\( $26,500
cO-
EXERCISE 10-8 Otes‘a-\e

(a) Type of Asset £y Qm N Gﬁu@?g Warehouse
Book ya@aN/1h0 O Yssss,000 $75,000
ngalvag e ’L

Pg 37,000 3,600
epreciable co $649,000 $71,400
Remaining useful life in years 44 15
Revised annual depreciation $ 14,750 $ 4,760
(b) Dec. 31 Depreciation Expense—Building .............. 14,750
Accumulated Depreciation—
= TUT] (o 113 o 14,750
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*EXERCISE 10-15

(@) TrUCKS (NEW) ...ocierrcrmsasmsmsassmssnsassmsssssssmssssassmssnsassmssnsassnsas 53,000
Accumulated Depreciation—Trucks (old).........cccc..... 22,000
LOSS ON DiSPOSAL.....ccourrrmsmsamssmssmssmssssssssssssssssssssssssssssssssnas 6,000
QLY Lo I (o] [ ) 64,000
CaSh.. et —————————— 17,000
Cost of old trucks $64,000
Less: Accumulated depreciation 22,000
Book value 42,000
Fair market value of old trucks 36,000
Loss on disposal $ 6,000
Fair market value of old trucks $36,000
Cash paid 17,000
Cost of new trucks $53,000
(b) Machine (NeW) ......cceemrrsmramsmrsmsmsmssmssssmssmsassmssnsassnsans G'U ,000
Accumulated Depreciation—Machine Ne, ...... 4,000
Gain on Disposal............. t.es ...................... 1,000
Machine (old).......mn.. Nﬁ .............................. 12,000
Cash......... .“ @m ............. Uﬁ 62 ................ 3,000

prev

\:@s\tlhlf @123 $12,000

Less: Af€cC ated depreciation 4,000
Book value 8,000
Fair market value of old

machine 9,000
Gain on disposal 1,000
Fair market value of old

machine $ 9,000
Cash paid 3,000
Cost of new machine $12,000
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PROBLEM 10-3A

(@) (1) PUrchase PriCe ......rnmsssmsmssnsmssssssnssssmsssssssssssnsassnssssssnsansns $ 38,000
ST 1 LTS3 7= ) QN 1,700
ST 01T 0] o1 g Ve [ oo =3 £ 150
Insurance during Shipping......cccorenmirsssssessssssessssassnsnnans 80
Installation and testing......cccoceeeirnscsisssscssrsscrscsnane 70
Total cost of machine ... $ 40,000

] = Tod o] 3 1= 40,000
(- 1= o [N 40,000
(2) Recorded COSt ... $ 40,000
Less: Salvage value ... cssmsssnssssssnsanas 5,000
Depreciable COSt...... e $ 35,000
Years of useful life ... \) S E 5
Annual depreciation ................... \e CO‘ ............... $ 7,000

- \,656'
Depreciation Expens®\\. ey e ,
pAchn:“I@ﬁéeﬁmatén‘ 6 ................ om0 7,000
(Y &ﬁ}[ecorded aQ.e ................................................................... 160,000

Less: Salvage VAIUE .o 10,000
Depreciable COSt...... e $150,000
Years of useful life ... + 4

Annual depreciation ... $ 37,500

(2) Book Value at

Beginning DDB Annual Depreciation Accumulated

of Year Rate Expense Depreciation
$160,000 50%* $80,000 $ 80,000
80,000 50% 40,000 120,000
40,000 50% 20,000 140,000
20,000 50% 10,000 150,000

*100% =+ 4-year useful life = 25% X 2 = 50%.
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PROBLEM 10-6A

(@) Accumulated Depreciation—Office

(LT 1 o] 8 = 50,000
Loss on Disposal........cccccvvmrecrimssmsssssmssmssssssmsssssssssnsssnsns 25,000
Office FUrniture. ... sn s 75,000
o) TR 3= 1= 21,000
Accumulated Depreciation—Office
(LT 1 o] 8 = 50,000
LOSS ON DiSPOSaAL.....ccorrrmsmsamssssamssmssssssssssssssssssssssssssssssssnas 4,000
Office FUrNiture ... 75,000
(o TR 0= 1= 31,000
Accumulated Depreciation—Office
(LT T o] 0 = ,000
Gain ON DiSPOSAl ..c.ceuueeesereemseemsreeneneegeesagens C@ 6,000

Office Furniture........ccocceverrvemrrnne ’ 6- ........... 75,000
oo
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(a)

(b)

PROBLEM 10-7A

Jan. 2 Patents...cricrrcernrne e 45,000
- 1] o [ 45,000
Jan.—- Research and Development
June (25 {0 1= g L= = 140,000
(07 1] o 1 140,000
Sept. 1  Advertising EXpense.........cccccvamsmrsnsnsassnsanas 50,000
- 1= o [ 50,000
Oct. 1  Franchise.... s ssessssssssssnnees 100,000
(07 1] o 1 100,000
Dec. 31 Amortization Expense—Patents............... e) \(
Patents......ccocorvririnrninisieneseneneaes \e 12,000
[($70,000 X 1/10) + ($45 000{@33
31 Amortlzatlon E § |36-‘ 62 5,300
ﬂgwpb ................................... 5,300
(e 8 OO%@F
P ($100,00 X 3/12)]
Intangible Assets

Patents ($115,000 cost — $19,000 amortization) (1)................ $ 96,000
Franchise ($148,000 cost — $24,500 amortization) (2) ........... 123,500
Total intangible assets.........ccocnmirrinnssissssrsssscsenaens $219,500

(1) Cost ($70,000 + $45,000); amortization ($7,000 + $12,000).
(2) Cost ($48,000 + $100,000); amortization ($19,200 + $5,300).

10-34
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PROBLEM 10-5B (Continued)

Land
Bal. 2,000,000 | June 1 340,000
Apr. 1 1,200,000
Bal. 2,860,000
Buildings
Bal. 20,000,000
Bal. 20,000,000

Accumulated Depreciation—Buildings

Bal. 8,000,000
Dec. 31 ad,. 400,000
Bal. 8,400,000
o LK
\e.C
Equi eSa
quipment \\\‘9‘! 2
Bal. 30,000,000 20,080
July 1 1,100,000 %{Q\T\ A NOQQg ©
Bal.

P&

pad®

Accumulated Depreciation—Equipment

May 1 182,000 | Bal. 4,000,000
Dec. 31 300,000 | May 1 14,000
Dec. 31 30,000
Dec. 31 adj. 2,983,000
Bal. 6,545,000
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COMPREHENSIVE PROBLEM (Continued)

10. Amortization Expense—Patents..........ccccceerrrierncne 900

Patent..... s 900
11. Salaries EXPeNnSe......cornmsssmssmsmssmsssssssmsssssssmssssassnsas 2,200

Salaries Payable...........ccourvrnmnrsersnsessmssnsessnsnsnsans 2,200
12. Unearned Rent ($6,000 + 3).....ccccoceremrmrmsnsnsnsmsnsnsnsnnnas 2,000

Rent Revenue...... s e 2,000
13. Interest Expense ($11,000 + $35,000) X .09........... 4,140

Interest Payable.........cicncninrssssssssssnsanns 4,140
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BYP 10-3 EXPLORING THE WEB

Answers will vary depending on the company selected.
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